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QUESTION 1

Which of the following about per-interface label space is TRUE?

A. A single label is assigned to a FEC for all interfaces on the same router.

B. The same label can be used to forward a packet on an LSR regardless of which egress port is used.
C. It uses fewer label resources than a per-platform label space.

D. A separate label is used for each interface that the FEC is advertised on.

Correct Answer: D

QUESTION 2
Which of the following statements is FALSE regarding 6VPE?

A. 6VPE is a tunneling technology that makes use of MPLS tunnels to transport IPv6 information over an IPv4 MPLS
infrastructure.

B. Customers connected to 6VPE could run native IPv6 or IPv4.

C. On the PE router, the next hop for a VPN IPv6 address is an IPv6 address, regardless of the nature of the network
between the PEs.

D. 6VPE requires an IPv6-aware MPLS core.
E. Both C and D are false.
F. All of the above statements are true.

Correct Answer: D

QUESTION 3

Which of the following regarding MPLS label value assignment is FALSE?
A. Label values may be dynamically assigned by LDP.

B. Label values may be dynamically assigned by RSVP-TE.

C. Label values may be reserved for special uses.

D. Label values may be dynamically assigned by IGP.

Correct Answer: D

QUESTION 4
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Which of the following is NOT an advantage of MPLS shortcuts for BGP traffic?
A. It makes use of MPLS resiliency features available within an AS.

B. It eliminates double route lookups on all routers within an AS.

C. It eliminates the need to run IGP on all routers within an AS.

D. It eliminates the need for an iBGP full mesh on all core routers.

Correct Answer: C

QUESTION 5
How is the DR selected when an OSPF router is added to a broadcast network?

A. The current DR is selected, if there is one. Otherwise, the router with the lowest priority is the DR. If priorities are the
same, the DR is chosen based on the lowest RID.

B. The current DR is selected, if there is one. Otherwise, the router with the highest priority is the DR. If priorities are the
same, the DR is chosen based on the highest RID.

C. The router with the lowest priority is the DR. If priorities are the same, the current DR is selected. Otherwise the DR
is chosen based on the lowest RID.

D. The router with the highest priority is the DR. If priorities are the same, the current DR is selected. Otherwise the DR
is chosen based on the highest RID.

Correct Answer: B
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